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Independence (for events)
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Definition:  Let (ﬂ, \A, [F> be a probability space.
Two events A, B e & are called independent if rP(An B) = [P(A7|P(B>
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A = *first throw gives 6* = {(u,,wl)e_ﬂ_ | L, =6}

B = *sum of both throws is F* = i(u“uz)eﬂ_ | wy+w, :7}
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P(AnB) = P(5(,n}) ==~ = P(A)-P(B) => A,8 are independent
Example: [ l[j'\ throw a point info unit inferval (_O_ \A [F)

I A

[O 1]// (—Ob uniform distribution
]

density function

F([“/"]) = f1 dIx =L-a j;; ii:ﬂ $:0—=R with f(x) =1
[a.t] ’

1, xeloA
[—‘ indicator function: ﬂ,[o 1](X) = 5
O \\ /
° > o , else
1

0

For two independent events A B e \A‘ we have:

(1,50 dx = P(AnB) = P(A)-P(8) = ﬂw 6 dx - ﬂux) I
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